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QUIZ MASTER

Grand Quiz(CS411)

100% correct solution.
For more information you can visit my channel and for
any type of help related to CS619 you can contact me.

YOUTUBE CHANNEL:
https://www.youtube.com/channel /UCINsFwDiB62SValCcPDZbRQ/playlists

FACEBOOK GROUP:
https://www.facebook.com/groups/923887914750307
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C5411:Grand Quiz Quiz Start Time: 01:09 AM. 26 December

Question # 1 of 30 ( Start time: 01:09:21 AM. 26 December 2020 ) Total Ma
The root object element in XAML must specify at least XML namespace(s) that is/are used to qualify itself and any child
elements.

~
N g
Select the correct option \ \ e

Two
O
Three
O N

N

Four k

O

One
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Question # 2 of 30 { Start time: 01:09:40 AM. 26 December 2020 )

In System.Conscole "Console" is a which enables us to do console Input and Output.

Select the correct option Ql

Structure \
0 S

Class

&\
Mamespace X

Library
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CS5411:Grand Quiz

Question # 3 of 30 { Start time: 01:09:57 AM, 26 December 2020 )

Which of the following Keyword is used to declare an anonymous method?

{

Select the correct option

static

delegate

S
. =
& \—

this \

event
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C3411:Grand Quiz Quiz Start Time: 01:09 AM, 26 December 2020

Question # 4 of 30 ( Start time: 01:10:11 AM, 26 December 2020 ) Total Marks: 1

This is an example of . when a program is written to respond to the button clicks, menu selections, and other actions
of the user in whatever arder the user use them.

Action-Driven Programming.

Select the correct option \
User-Driven Programming b \ ~—

@)

Mouse-Driven Programming

O

Event-Driven Programming

=) i
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CS5411:Grand Quiz

Question # 5 of 30 { Start time: 01:10:27 AM. 26 December 2020 )
Select the correct statement about the Structure in C#?

™

Select the correct option \

Itis a Reference type -L

Its syntax is similar to class
It can implement destru%

It can implement inheritance
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S P4
2: CS411:Grand Quiz 5
S P4
S Question # 6 of 30 { Start time: 01:10:42 AM. 26 December 2020 ) e
2: For a Horizontal grid splitter, __ h ecified. 5
S P4
S 2
S P4
S P4
S P4
S P4
z Select the correct option \ V / 5
S Height 1
: 0 5
3 O\ $
2 Width % \ 5
g ® S 2
:2 |- {
$ b4
) Alignment Q (
> Q' <
2 O 4
$ <
> <
> Size £
> <
$ O 4
> 4
> 4
> <
> 4
> <
> <
> <
> <
> Y 4
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CS5411:Grand Quiz Quiz Start Time: 01:(

Question # 7 of 30 { Start time: 01:10:55 AM, 26 December 2020 )

To design a complex Interface, which of the following technigue is best to achieve the required results?

N

Select the correct option

Panels composed in three panels

Panels composed within panels s , |
= N \

Panels composed in fwo panels

Panels composed in single panel
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Question # 8 of 30 { Start time: 01:11:10 AM. 26 December 2020 )
In WPF, function registers an attached property with the property system.

Select the correct option
RegisterAttached(String, Type. Type, PropertyMetadata, ValidateValueCallback)
ko d

RegisterAttach(String, Type., Type. Proper@data ".-“alldate‘-.-"al Calbab\

Register_Atftached(String, Type. T@mpertyfﬂetadata ValidateValueCyllba k]

Reg_Attach(String, T‘,rpeg ropertyMetadata, Validate\ValueCallback) \

ID
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C5411:Grand Quiz

Question # 9 of 30 { Start time: 01:11:23 AM. 26 December 2020 )

WPF4 was released in

Select the correct option =

2012
: )

2010 % L

2005 éa \

0 S
&

2003

P A A AL AL AT A A A A e e e el el el o all el e N ol ol ol ol o o o o o o o o o o ol o o e o e
T T e T T T T T e e e T T2 T T T T T T T S T Ve Ve S 20 20 Y20 M Vo W e 2 2 e R P P % %0 % B R 9

PPPPLLLLLLLLLL LSS LSS LSS LSS LSS LSS LSS LS LSS LLLS PSSP PP



\\\\\\\\\\N\\\\N\‘\‘\‘\‘\‘\‘\\‘\‘\\‘\‘\\\\\\\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘V>
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Question # 10 of 30 ( Start time: 01:11:37 AM. 26 December 2020 )

Adtributes of @ program can be retrieved from its assembly metadata through

\

Select the correct option

Static member

Reflection

Garbage collectar

Constructor
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S 4
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2 CS3411:Grand Quiz Quiz Start Time: 01:09 AM. 26 December 2( 5
2 Question # 11 of 30 ( Start time: 01:11:54 AM, 26 December 2020 ) Total Mark 5
S Suppose. the property of x coordinate of the button timely changes in such a way that after every 100 seconds value of x coordinate 1
S increments by 1, then this case refers to 1
S 4
: ) :
2 Select the correct option / 5
Animation /
S 4
2: @ Q / 5
\

2 o Property Element s . - 5
S \ 2
3 N ¢
) Transformation

S o Q' l
S P4
> 4
) Tunneling (
$ 4
$ & 2
$ 4
$ 4
$ 4
$ 4
$ 4
S 4
$ 4
S 4
$ 4
$ b4
$ 4
$ 4
$ b4
$ b4
> ' 4
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C5411:Grand Quiz [

Question # 12 of 30 ( Start time: 01:12:12 AM. 26 December 2020 )
In WPF. clipping is done before

Select the comect option

Render Transform

Layout Transform § \—
Matris Transform &

Skew Transform
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C5411:Grand Quiz

Question # 13 of 30 ( Start time: 01:12:28 AM. 26 December 2020 }

The Main method returmns zero value which indicates the

Select the comect option {l‘\,\ V

Source of Program v

Successful execution of Program

|
b _d

L 4

Termination of Program \N

-

Exception in Program
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Question # 14 of 30 ( Start time: 01:12:44 AM. 26 December 2020 )
Which of these keywaords is used to manually throw an exception in C&#?

Select the correct option %z
try

O

)
&
A

catch —
0 \

throw

b
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Question # 15 of 30 ( Start time: 01:13:01 AM. 26 December 2020 )
What is the key feature of Java?

Select the correct option
Platform independent vw
Virtual machine Based language Q
Both (a) and (b) N A
M N
® &
Platform Dependent
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Question # 16 of 30 { Start time: 01:13:16 AM. 26 December 2020 )

Attribute parameters can be ether positional parameters or parameters.

N

Select the correct option \

Marmed

JE AN
&\

Static

Global
O \

Private
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Question # 17 of 30 { Start time: 01:13:31 AM. 26 December 2020 )

“FrameworkElement” is the base class that adds support far

i

Select the correct option

Abstract Class \
S\ /
o S\
&

Data binding \ (

\\‘x__

Inheritance

Polymorphism
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C5411:Grand Quiz

Question # 18 of 30 ( Start time: 01:13:45 AM. 26 December 2020 )
Which method is used to write single byte to the file?

V
Select the comect option W

Write{ )
O

O

<
& \

WriteByte ()

b _d

WriteKey( )
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Question # 19 of 30 ( Start time: 01:13:59 AM. 26 December 2020 }
key can be represented as _text in XANL.

\I

Select the correct option

-8 \L

Public

Private
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Question # 20 of 30 { Start time: 01:14:14 AM, 26 December 2020 )

Which of the following components generates an input Event?

Select the correct option

Printer

Multi Touch

i Q@ .
S\
&

Plotter \

Speaker
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Question # 21 of 30 ( Start time: 01:14:29 AM. 26 December 2020 ) Total Marks: 1
We want the width of button should cover the whole width of StackPanel in WPF then. what should be the value of HorizontalAlignment

property of button?
< y
Select the correct option
Parent
° S ) |
Whale
O p
LY \
Fill Q \
@) p
Stretch
m
= e
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Question # 22 of 30 ( Start time: 01:14:46 AM. 26 December 2020 }

Select correct statement about properties of read and write in C#.

~
Select the correct option

A read only property will only have Vn:essor
=
® T

A write only property will Dn&]&i accessor

A property cannot bJKN read only or write anly

A property can simultanecusly be read ar write only
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Question # 23 of 30 ( Start time: 01:15:02 AM, 26 December 2020 )
methods are not declared. instead they get hooked up directly to events.

Select the correct option \
Private

O () \
Ananymaus \ N

b ”
Static %

Mon-Ancnymous
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Question # 24 of 30 ( Start time: 01:15:16 AM. 26 December 2020 )

The initial name for C# was

Select the correct oplion %!

COAL (9
-

O

COooL

b d
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C5411:Grand Quiz Quiz Start Time: 01:09 AM, 26 Dec

Question # 25 of 30 ( Start time: 01:15:32 AM. 26 December 2020 ) T

System Windows. Controls. Button b = new System Windows.Controls. Button();
b.Content = "OK";

For the above code (written in C#) the corresponding XAML code will be:

Select the comrect ophion

<Button xmins=http://schemas microsoft. comjwi m&'}cﬁmlfpresenlati on Content="0OK"[=

= ! [\
<Button xmins="0K Co ntent—'http:,",'sc1&1050&.r:::ulﬂ,"Wlnﬁq-'EDDG,":-:um;'presewtatcn s
<Button xm|n5=Imp:,",.fschemas.mi%Dm,"winﬁdEDDG;xamI,.'presenlatiu:nn Event="0K"= | —

<Button xm|n5="hl‘tp:,.’,"sc:he&icrusuﬁ.com,-fmfinbg"EDDE,"xa mljpresentation” Call="0K"[=
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S g
2 CS5411:Grand Quiz Quiz Start Time: 01:09 AM, 26 December 21 5
S 4
S Question # 26 of 30 ( Start time: 01:15:45 AM. 26 December 2020 ) Total Mark 1
2 Which of the following property will be used to  restrict the user to nat increase the height of a WPF element from a specific valus? 5
S 4
S o g
$ g 2
2 Select the correct option . 5
MaximumHeight

: :
3 O D $
< MaxHeight s A ' 5
S 0 A \ @ 2
S N P4
S % 4
‘:\ o IncreaseHeight 5
>

? 4
g HeightMaximum 5:
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Question # 27 of 30 ( Start time: 01:16:00 AM. 26 December 2020 )

Which of the following is an entity that introduces event into the system?

|

Select the correct option

Event Channel

~
g
e X
<
&

Ewent Stream
\- ; 1 -
e
Ewvent Consumer
Event Producer
F
|-
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2: CS411:Grand Quiz 5
2: Question # 28 of 30 ( Start time: 01:16:14 AM. 26 December 2020 ) 5
2 Why do we use cin.get(} in C++ program? 5
S 4
S P4
S P4
S 4
S P4
S 4
S Select the comect option \ 1
z It is used to access character array 5
S 0 v 4
S — 4
S 2
2 It 15 used to get numenc data v 5
S O P4
D 4
S %‘ 4
> It is used to print all valu ray V 4
> & Y 4
> O \ 4
S 4
> ' 4
‘:\ It is used to take input from user (:
Q <
s O 4
Q <
Q <
Q <
QS <
QS <
QS <
QS <
QS <
> ' 4
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Question # 29 of 30 { Start time: 01:16:25 AM. 26 December 2020 )

In this code statement,
Button b = sender as Button

as keyword is used for

Select the correct option
Casting
T
— <
\

Walidation b
o &

Declaration \N' I S
o &

Instantiation
@)
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Question # 30 of 30 ( Start time: 01:16:45 AM. 26 December 2020 )

The method is used to read the whole file at once.

Select the correct option N

ReadAllText( test.td");

O
S \(

ReadAll(). s \ T

O
&

Read| test.txt™); %
O

ReadLine();
O
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